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QUESTION 1

Which feature is available for a virtual machine configured with DirectPath 1/0?
A.DRS

B. Snapshots

C. Fault Tolerance

D. Clone

Correct Answer: D

The following features are unavailable for virtual machines configured with DirectPath:

QUESTION 2

Virtual Volumes supports which three VMware features? (Choose three.)
A. Instant Clones

B. Linked Clones

C. Distributed Resource Scheduler

D. Storage Distributed Resource Scheduler

E. vMotion

Correct Answer: BCE

QUESTION 3

An administrator wants to create and use a VApp.

Which pre-requisite must be met before the administrator can create a vApp?
A. The vApp can only be deployed in an EVC enabled cluster.

B. The vApp must be created within a StorageDRS cluster.

C. None. vSphere 6.5 does not support vApp deployments.

D. The vApp can only be created in a DRS enabled cluster.

Correct Answer: D

You need to turn on Vsphere DRS to create vApp.
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QUESTION 4

An administrator is trying to remove a host from a vSphere Distributed Switch named DSwitch01. The following error
message is displayed:

vDS DSwitch01 port 17 is still on host 192.168.100.23 connected to VMO01 nic=4000 type=vmVnic

Which two actions can the administrator make before removing the host from the vSphere Distributed Switch? (Choose
two.)

A. Migrate VMO1 to DSwitchO1 port 1.

B. Add an additional vNIC to VMO1 to another vSphere Distributed Switch.
C. Migrate VMOL1 to another host.

D. Disconnect the VMO1\\'s vNIC.

E. Place VMOL1 into Maintenance Mode.

Correct Answer: CD

Before removing the host from distributed switch, migrate VMO01 to DswitchO1 Portl. Then disconnect VMO01 NIC.

QUESTION 5

Which is the minimum number of hosts required for a VMware vSAN cluster to be able to apply a vSAN RAID5 storage
policy?

A. six hosts
B. three hosts
C. four hosts
D. five hosts

Correct Answer: C
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